
Trigonometric
𝑦 = a sin (𝑏(𝑥 − ℎ)) + 𝑘 
𝑦 = sin(𝑥)

𝑦 = a cos (𝑏(𝑥 − ℎ)) + 𝑘 
𝑦 = cos (𝑥) 

𝑦 = a tan(𝑏(𝑥 − ℎ)) + 𝑘 
𝑦 = tan (𝑥)

Exponential
𝑦 = 𝑎(𝐶)௕(௫ି௛) + 𝑘
𝑦 = 2௫

Logarithmic 
𝑦 = 𝑎𝑙𝑜𝑔൫𝑏(𝑥 − ℎ)൯ + 𝑘

𝑦 = logଶ 𝑥

Radical 
𝑦 = 𝑎ඥ𝑏(𝑥 − ℎ)

⎯⎯⎯⎯⎯⎯⎯⎯ 
+ 𝑘 

𝑦 = √𝑥⎯⎯ 

Quadratic
𝑦 = 𝑎(𝑥 − ℎ)ଶ + 𝑘
𝑦 = 𝑥ଶ

Linear
𝑦 = 𝑚𝑥 + 𝑏
𝑦 = 𝑥

Cubic/Quartic/Quintic…
𝑦 = 𝑎𝑥ଷ + 𝑏𝑥ଶ + 𝑐𝑥 + 𝑑
𝑦 = 𝑥ଷ

Rational

𝑦 = ቀ
𝑎

𝑥 − ℎ
⎯⎯⎯⎯⎯ቁ + 𝑘

𝑦 =
1

𝑥
⎯⎯

Absolute Value
𝑦 = 𝑎|𝑏(𝑥 − ℎ)| + 𝑘 
𝑦 = |𝑥|

Polynomial  𝑥 ∈ ℝ

 𝑦 ∈ ℝ

Real Life! 𝑥 − 𝑖𝑛𝑡 (𝑥, 0) 𝑦 − 𝑖𝑛𝑡 (0, 𝑦)

𝑦 ≥, ≤ 𝑘

𝑥଴ௗௗ

𝑥௘௩௘௡

 𝑦 ∈ ℝ

𝑦 ≥, ≤ 𝑀𝑖𝑛, 𝑀𝑎𝑥

 𝑥 ∈ ℝ 𝑦 ≥, ≤ 𝑘

𝑏(𝑥 − ℎ) ≥ 0

𝑦 ≥, ≤ 𝑘

 𝑥 ∈ ℝ

(𝑥 − ℎ) ≠ 0

𝑦 ≠ (𝐷𝑒𝑝𝑒𝑛𝑑𝑠)

log௕ 𝑎
𝑏(𝑥 − ℎ) > 0

𝑎 > 0, 𝑏 > 0, 𝑏 ≠ 1
 𝑦 ∈ ℝ

𝑦 <, > 𝑘

 𝑥 ∈ ℝ

𝑉𝑒𝑟𝑡𝑒𝑥 (ℎ, 𝑘)

𝑘 − |𝑎| ≤ 𝑦 ≤ 𝑘 + |𝑎|

𝑦 ∈ ℝ

𝑏(𝑥 − ℎ) ≠
𝜋

2
⎯⎯+ 𝑛𝜋
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